
1.

2.

3.

4.

(A) qtd 39

(C) 3HG 42

(A)Fauf fR HAf
(C)g afAf

(E) 44a g

gt:)
(A) dt 341R 3414R

(B) qHYH HGut

(D) R t Ta

(A)untidy

(B) 473 40

(C) jovial

(D) 3qdz 38

(B)

(D)qHf f
THAfA

Choose the word opposite in meaning to:
DISHEVELLED

(B) Confident

(D) tidy

(E) Question not attempted

(B]

[AJ

(D]

(D]

5.

6.

7.

8.

9.

Choose a word nearest in meaning to the
underlined word.

The convict's ingenuous explanation
brought tears ineveryone's eye.

(A) secret
(C) clever
(E) Question not attempted

to:
PROSCRIBE

Choose the word most similar in meaning

(A) Permit
(C Prolong

(E) dRA IAI

(A) A

(C) r

(B) naive

(E)Question not attempted

(E) r4dkA IN

(D) insincere

(A)3626 -frT
(C) Afq- 3

(E)3gtfRaVA

(B) Appease
(D) Prohibit

(B)FT

(D) auf

[B]

(B) hH-TG
(D) 1G -q

(D]

(B]

(D]

[B]

check
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12.

15.

(A) Hqi
(C) 3rfAgajac
(E) 3qtfRd 9A

18.

(A) iteT

(C) 3GTAR

(A) Ieft fig
(C) Taa
(E)344Rd IA

(A) htei
(C) dtart

(A) 261

(C) 291

(A)

13. faRI hetl-ftet Afefaa fa RHÀ

(E) 3gdRa YA

(C)

65

?

28

125

59

(E) gafka UN

(A) fT
(C) gat

(A)A: + Helc
(C) ART + fh
(E) 3gtfRa yA

12

27

17. fefaa +sfar

(B) jaG
(D) TAq|i

(B) •fatSI
(D) 1

(B) 4rct
(D) 41

(B)

(D)Gg

ut a sir B e HÁlchUT 3*- 13x+ 14 = 0

(B) 181

(D) 191

(B)
83

41
(D) 8

(B) 4: + efa
(D) AR+ 3rf

[C]

tfa zift

(D]

(B) Hf
(D) t

[C]

(B]

[A]

[C]

(AJ

(B) 47fA AA

Choose the most appropriate option to
fillin the blanks.

[D]

Mr. Mehra called while you
were out. He wants to make

19.

20.

21.

22.

23.

complaint about
paper. He was in very bad temper.
(A) X, an, an, an
(C) A, x, an, the
(E)Question not attempted

help me; in fact
need

Choose the most appropriate option to
fill in the blanks
Ican't do this job alone. I need

The
complete the sentence;

is
(A)Direct official

(A) anything, nobody, anybody
(B) somebody, anyone, someone
(C) anybody, nobody, anyone
(D)nobody, noone, anyone
(E)Question not attempted
Choose the most appropriate option to

(C) Dare open

to assist me.

full form of DO letter in
administrative or official communication

appropriate option:

(B) A, a, the, a

He succeded in life
disabilities.
(A) but for

(D) A, a, an, a

(E) Question not attempted

(B) in the event of
(C) in spite of
(D) incase of

article in the

one another.

(D]
Fill in the blank choosing the most

(A) in

(C) for

will do, as I just

(B)Do Open

(E) Question not attempted

(D) Demi official

(D]

to

(B) with
(D) to

(E)Question not attempted

(D) yTf Afo ata

Choose the most appropriate word to
complete the sentence given. For once all
the committee members agree

(B]

his physical

[C]

(B]

[D]

check
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24. 211,0,

27.

28.

29.

30.

32.

(A) UITHh RG

(C) ta ska
(E) 3gtRaT UN

frauti

(E) gdfta HA

(A) iEI
(C) AIsçuH
(E)341fR HN

(A)2017
(C) 2019
(E) tRauA

(A) 344y
(C) YRAYR

(E) gata UN

(C) TUT| 34R GT

(E) 4grka HA

(A) YRAY
(C) KarÉ HTtge
(E) 3rfRd VA

(A) 17
(C) 21
(E) RANA

211,0+0,

(B) ai: Jra
(D)

(D) hfH

HFJtRh

(B) TTSt
(D) Hh

(B) 2018
(D)2016

(B) GTg
(D) Gg

(D) TUTT fashHIf

(B) etage
(D) t

(B) 19

(D) 15

[AJ

[A]

[B]

(C]

(D]

(B]

(AJ

(AJ

(B)

33. sgT RSH

(A) TUra21
(C)Tor 14

(E) 347fRd yA
34. fefaa t fauta gui

, HR

36.

37.

38.

(C) Shl 31chR

(E)qatad HA

fey

(A) g3< 316
(C) 3q3< 317
(E) 3gakd g%

(A) Mq3e 164

(c) 3qdz 166
(E) 3qrtfA HA

T4 ?
(A)IRH

(E) 371fRa 9N

(B) HeT T fURfAS

(E) gRa uA

(A) FUTH

(C) Ry

(B) Jorga01
(D) qu 11

(E) 34qaRa 9N

(B)yoy ht fRf

(B) 3q3< 320
(D) 31q34 312

(B) 3rgB< 165
(D) g3 163

(B) JR yer
(D) JoRI

(B) ts
(D) H1 (44 Ž)

[AJ

[C]

[AJ

[B]

[AJ

[AJ

[AJ

(B]
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42.

43.

45.

46.

(E) 3rgtRa NN

47.

(A) 45I
(C)

(E) 4gRa 9A

(A)HH1-d I 34felchR

(E) 34qaftd IN
44. faH faf at 3TR, t . T2000 h ift

(A)3TEd 15, 2021
(C) H631, 2022
(E) 34qdfRd UA

(A) 33%
(C) 45%
(E) 3q1fRd yA

(A) 842

(B) raR

(C) 757

(D) qH

(E)4dRd wA

987, 906, 842, 792, 757, 732, 716

(B)4$ 19, 2023
(D)T 16, 2020

(B) 40%
(D) 50%

(B) 792

(D) 906

(B]

[D]

[D]
e

(B]

[D]

[B]

49.

50.

48. gf PHYSICS ht fhft hifsT 14T KSBHRXH

(A) hdi Ach II 344RU| hdIŽI

53.

(D) hdt Achsi I 34-4RU hRAI ŽI
(E) 311tfRd yA

54.

(A) YRLOLTB

(C) YRLOLSB
(E) 3-1ifRa UA

(A) 3TR. t. 3I
(B) yRr4- Ž4yic as

(D)fag h
(E) 3qtRa uA

(A) 2012
(C) 2014

51. Fe,O;+3CO 2Fe +3C0,

(A) CO

(C) CO2

(A)Rr (3UHUS)

(C) ta (hl tut)
(E) 4R vg

(B) 3t GUU

(C) 3H4H ZYU

(D) H4dd Gtu
(E) 4Ra vA

(B) YRMOMTB
(D) YSLOMTC

(8) 2011

(D) 2010

(E) qafRd yN

(B) Fe
(D) Fe,03

(B) ptl
(D) USZ

(B)48 Hteft fAch G 2I

[C]

[AJ

[C]

[D]

[AJ

(D]

[B]

[D]
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55.

56.

57.

58.

59.

60.

61.

yas Had t ste 50 cm I 3AÂt
HHT rft:

(A) +2 D

(C) +5 D

(A) GTTHBT

(C) 35UT YfR
(E) 34q1fRd

(A) ART GHR
(B) TdI

D)Ista hHIR

(E) 41fd uA

(A) 28 f
(C) 20 fta
(E) 3gdRA HA

hU?
aabc_ bca_b_a_bc
(A) aa cba
(C) aa a ca
(E) 7tRa HA

(B) -5D
(D) -2 D

(B)GGld HHye

(D)T4 YdR

(B) 25 r
(D)23 ftr

(B) ab a ac
(D) aa bca

(C) "yTH HGI Y" (PMMY)

(D)"uTH4

[D]

utsi" (PMJDY)

(A) "ITt sta vufà t uT" (PMJBY)
(B) "UT-H RAT AH G" (PMSBY)

(B]

(DI

[C]

[C]

(D]

63.

67.

68.

(A)3E4Y
(C) Gier
(E) 4(fRa HA

(E) TiRa UN

(A) fauh 3-1h4U
(C) ATchshHch

(E) 344tRa uA

(A) 24,144
(C)26,182
(E) 344RaT HN

a.

b.

qei-I (3rfsre)
HHIHAI

(A)a-II, b-IV, c-I, d-III
(C) a-III, b-l, c-IV, d-Il
(E) gfRa UA

(A) . . yis

(E) 3qtfRd 9N

(A)I
(C) a

(B) TR
(D) Gige

(D) t HHR aY

(B) tGAH5
(D)9IfAh 44hHU|

(B) 34, 204
(D) 42, 252

qt-II (4afat)

d. ettqu faogIV. 3eJHEH a afus

[D]

(B) HYchR

(D) 3-<uta Gl

[C]

(B) 31T

(D) 34

[AJ

[C]

(B) a-V, b-III, c-II, d-I

(D)a-I, b-II, c-III, d-IV

[C]

[B]

(D]

check
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69. Afefaa 'f qufyarft-

72.

73.

70. ffafaa fa
(A)

75.

a. grcig

76.

e. qlqG

(A) hdib, c 3tr e

(C) hdd a, d tR e

(E) 3qtRa IA

(C) HÁT
(E) gRa uA

(A) HHE

(C) 1R
(E) 3gfRa v

fara-f htd?
(A) 6

(C)9

(E) 3gtRa HA

(A) 3:1

(C) 5:1
(E) 3rgRa uA

(A) 9

HTX={1, 2} st y ={1, 2, 3}1 xy rfhd?

(C) 11
(E) 34qdRA UA

(A) Casual holiday

b. 31

a faytarts r4
(B) fagtgI

(B) National holiday

d. F3

(B) g b, c tz d
(D) had a, b tr e

(C) Gazetted holiday
(D) Restricted holiday

(D) 43

4 H1H aa, 20,000 TY H HIY

(B) 4F1
(D) fE

the given sentence.

(B) 8

(D)3

t 20 f T GRÀ fy 10 afti t qes

(B) 4:1

(D) 2:1

[C]

(D]

(B) 10
(D) -8

[AJ

(E)Question not attempted

Choose the English word for the given
word.

[C]

[AJ

[AJ

[C]

Choose the most appropriate word for

79.

A person who is incharge of the objects
or works of art in amuseum.
(A)Cartographer
(B) Curator
(C) Calligraphist
(D) Credulous
(E) Question not attempted

(A)

(C

B

h)

(A)

S

(0

S

(C)

(E) 3gafta VA

C

50600

X

S2800

(iü)

(A)18A 3E 6B 8G 4B 12
(B) 18C 3G 6B 8B 4D 12
(C) 18F3B6E8G 4E 12
(D)18C 3D 6B 8C 4G 12
(E) 4gRa yA

(f')

7 ()
(E) 3qRa uA

s

sX

C

(iüi)

(B)

(D)

A

(D)

F

N=

48400

•ls

46200

S

S

4840

22

(B) 7 ()

7

7 (f)

X

(v)

(B]

[C]

[B]

t.

[AJ
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(A)h I fr II- 3HAI

(D)hI 3R II ¿H HAI
(E) -aRa ya

(B) hfRI (Dhok Kathira) ir gat

(E)3rgufta TH

(A) JafArgr
(C) afyehg
(D)

(E)3qtRa HA

(A)Fh-R
(C) utute
(E) 3Rd uI

(B) f&eaIST

[B]

(B) HI3H

(D)T sH

[C]

[A]

84. y JYGRUT Gt stefrai tatc qfurt,

85.

86.

88.

(A) GutE
(C) HI3H
(E) 4Ra uA

(A)TGRG
(C) HT HGeT

(E)47tfRa gA

fahur?
(A)fhtstel fuT

(E)3qfRa VA

(A) HHstd g
(C)tt34T
(E) 3rqRa uY

(A) aTRI Hff

(E) 344afRa g

(A) HRA

(C) TG
(E) JgRa uA

(B)IST H
(D) -ats

(B) RIG
(D)HERIg

(B) 4Uld r4t
(D) GtRIH Ytd

(B) FUTT yAuT

(B) f hrffc
(D) Afu hIÆS

(B) HTS

(D) 4*

[AJ

[AJ

[C]

[C]

[AJ

[B]
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92.

(A) aufth
(C) faa

93.

(E) 3qrtRa u

91. Choose the most appropriate option to
fill in the blank:

Ritadidn't see me wave to her. She
in the other direction.
(A) looked
(C) has been looking (D) is looking
(E) Question not attempted

The accident victim
they

(B) HChTH

(D) dft

Choose the most appropriate option to
fillin the blanks:

(B) was dying, rushed
(A) had died, had rushed

(D) was dead, rushed

(B) was looking

(C) will be dead, have rushed

him to the hospital.

a. reft

(E) Question not attempted
Choose the passive form of the sentence
given.

C. HFTa
e. Juga

[AJ]

A thief stole my dog and brought back
only when I offered 5000 reward for
him.

94. Hefta g Tfftyer -

by the time

Choose the most appropriate option from
below:

(A) ham b, d sir e

(C)ha a, C 3t e
(E) 44dRa VA

[B]

(A) I offered a 5000 reward for the thief
only then my dog was brought back.
(B) Only when Ioffered a reward of 5000,
my dog which was stolen brought back.
(C) A thief brought back my dog which he
stole when I offered a reward of 5000.
(D) My dog was stolen and brought back
only when a 5000 reward was offered.
(E) Question not attempted

b. yR
d. RH

(D]

(B) aa b, catr d

(D) hgt a, b str c

[AJ

[C]

95. fefaa g fafaa AT

97.

98.

(E) qrkd HA

(A) HB
(C) fryr
(E) 34gtfRa yA

(A)Do you sleep at night?

(B)3T4Gh agr
(D) ta

Choose the most appropriate English
translation of the given sentence.

(B) What time do you sleep at night?
(C)When did you go to sleep at night?
(D) When did you sleep at night?
(E) Question not attempted
Choose the most appropriate option for
the reported form of the given sentence:
"Read it for yourself if you don't believe
what I say", he told me.

[C]

(A)He asked me to read it himself if I was
not ready to believe.

[B]

(B) He suggested that I read it since I didn't
believe what he said.

(E) Question not attempted

(A) IT

(C) He told me to read it as I didn't believe
what he said.

(E) 3qRa UA

(D) He told me to read it for myself if Ididn't
believe what he said.

(E) gafka HA

(B]

(B) TGIGt
(D)3T63

(D]

[D]

[C]
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(A)L,
(B) L, du

102. 4I AAUCh JYJ

(A) EDUSAT, 2004
(B) METSAT,2010
(C) EDSAT, 2006
(D) GSAT, 2010

103. iracft fatqu

HATIŽT L,

UHIIŽ L,

(B) 3feTHt gri faoR?

(A)faeT7 B6

(D)ft 3TT fasrr?
(E) 4(tfRa IA

(C) faetft B2

(E) 3gtRd n

CH3

CH3

105. fy g i 61 IUPAC T4:

CC=CH2

(C) 2 - -r (Penterne)
(D) 1- H(Butene)
(E) 4Ra yN

(A) Cao

(C) C70

(A)2- 4ST (Propyl) -1 - (Methane)
(B) 2- fr (Methyl) -1 - atta (Propene)

(E) 34fRd HA

106. Ha fecs RTS'p'

(E) 37Ra uA

(A) yaHte RT
(E) 4gaRa IN

(A)stt (GB)

(C) Adt (Nible)
(E) 31qka IN

ISRO GRI

I JUIfa ha S

(B) faerfeC
(D)faefaA A

(B) C

(D) Cso

(B) Refa RtT
(D) t fT

(B) IGE (Byte)
(D)

(B]

t (KB)

[AJ

[AJ

[D]

(B]

[B]

[AJ

[C]

HHR ?
(A) ENIAC

(C) IBM Notebook
(E) 3gtka UA

(A) q5IH
(C) 4T

(E) 3qtfa u

(A)
(C) 3413

(E) 3gtfRa HA

(A) GS
(C) qRTT - UT

(E) HRa uA

(B) IBM 7030
(D)IBM 4341

(E) 3R HN

(B) s
(D) AdT

(B) 3:

(D)¿t

(B) het
(D) yftu

(C) HIV-1 3iR HIV-2 GhU AT J4R

[B]

[C]

[B]

[AJ

[D]

Read the given passage and answer the
questions that follow: (Q. No. 114 to 118)
New Delhi: Whether it is playing chess
online, ordering food on adelivery platform,
interacting with bots for reponses to
queries, triaging patients or creating deep
fakes, Artificial intelligence
entrenched in modern life. It isn't surprising
then that universities and research
institutes are carrying out extensive studies
not only on the application of AI in

multifarious disciplines, but also on the
impact the technology has on lives. At the
Yard School of Artificial intelligence in

Indian Institute of Technology, Delhi,

studies are being conducted on building AI

algorithms that can be used for different
applications- a dialogue system where
patients can talk to an agent about patient
history, machines that can interpret
ultrasound images and CT scans and
systems to predict cyclones early. The range
of studies is extensive.

now
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A lot of the studies at Yardi School are also
assessing the existing Al algorithms to plug
gaps and social biases present. Abhijan
Chakraborty, assistant professor, IIT-D, said,
"While these days, the hype is around
ChatGPT, there are other kinds of
algorithms that are already in practice. For

instance, when one applies for a loan, banks
use a model in which data on the customer
generates a sense of how risky the loan will

be. In many of the contexts used for AI, it

was found that the algorithms tend to be
unfair to marginalized groups because
there might not be much data available and
the model automatically assumes that the
person is a potentialdefaulter."
Chakraborty talked about its use in the
judicial domain. "People are using a sort of
predictive tool to determine how likely a

person is to commit a crime if released on
bail," he pointed out A study showed that it
was highly biased against African Americans
with even those who hadn't ever committed
a crime being classified as high risk." It is

because of these drawbacks that
Chakraborty said the studies at Yardi School
"aim to create algorithms that are fair
across diversities, ethnic, religious, linguistic
or gender". "We mean to rectify anything
that directly impacts any particular group,"
said the assistant professor

114. Scientists are aiming to create an
unbiased algorithm
(A) To bridge the gaps and remove social
prejudices
(B) To study about potential defaulters
(C) To start a dialogue system for future
patients
(D) To study the impact of technology on
human liver
(E) Question not attempted

115. A set of rules that must be followed when
solving a particular problem is
(A) Multifarious disciplines
(B)Chat GPT

(C) Algorithm
(D)Artificial intelligence

[A]

(E)Question not attempted

116. Match List-I with List-II
List I (Words)
a. Eritrenched

b. Marginalised
C. Predictive

d. Ethnic

III. People that share the
same cultural traditions
IV. with not much say in

important matters.
Choose the most appropriate answer
from the options given below:

List-I (Fields)
a. Medicine

(A) a-IV, b-III, c-II, d-I (B) a-II, b-l, c-V, d-I
(C) a-II, b-IV, c-I, d-III (D) a-l, b-II, c-I, d-IV

(E) Question not attempted [C]

b. Banking

List-II (Meanings)

117. Match List-I with List-II

c. Criminology

I. ability of show future
happenings
II. established strongly

List-II (Application of AI)
I. Predicting
catastrophies

d. Meteorology IV. Disbursing loans

I. Identifying Potential
criminals

natural

II. Interpreting ultrasound
images

Choose the most appropriate answer
from the options given below:

(A) AATS

(B)HRAIS

(A) a-IV, b-III, c-I, d-II (B)a-II, b-I, c-III, d-IV
(C) a-I, b-I, C-IV, d-II (D) a-lI, b-lV, c-II, d-i

(E)Question not attempted (D]

118. Identify the drawback of using AI

extensively according to the passage :

(D) ISAR
(E) 4Ra UA

(A) Biasness against certain sections of
people due to lack of information.
(B) Natural catastrophics can be averted due
to timely alerts.
(C) Takes care of loneliness by providing
online companions.
(D) A bot will take down the history of
patient.
(E) Question not attempted [AJ

[C]
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(A) RI aI
(C) ZAT E
(E) 4gfRa

121. qeft -I aÌ qât -II qAfta if:
qeft-I (A)
a. aurg
b. àeè
c. sUT HIdI
d. fuft heTUT Gft

(A)a-I, b-l, c-III, d-IV

(C) a-IV, b-II, c-II, d-I
(E) 3rqfka UA

122. 2011

(A) IEUy
(C) Gy
(E) aRd yA

(A)

(C) @

(E) 34Ra uN

(A) ŽHLtH

(A) A + NxKx H -U
(C) A + N+ Kx H+U
(E)34fRa aA

I. MABELA

III. MABLE

(B) GTG G4l
(D) TH TRH

(A)II, III, I, V

-II(RrH)

(C)III, II, I, IV

(E) 3gdkA HN

I. att

TurT qHR, Afefta

II. es
III $TRYR

IV. fthR

(B) a-II, b-I, c-IV, d-II

(D) a-I, b-lI, c-I, d-IV

(B) ftchr
(D) GTtR

(E) 3qfR gA
125. P + Q 51 IGyff P, Q5T HTÉ

PxQ 5T arqÍf P, Q â 4TI
P-Q 6T algÝ f P, Q T ya
P+Q 5T qÁfe P, Q AT qfa ?

(B) #
(D) +

(B) HztsÍ
(D) fsTSA LTeH

II. MABUSE
IV. MABEPEARL

(B]

(B) 1, IV, III, II

(D) I, II, III, IV

(B]

(B) A - N -KxH U

(D) A + N x K+ H+U

[D]

[AJ

(D]

[B]

[B]

(A) H|-f
(C) ah
(E) 4qdfR uA

I. R, L dS
II. S, Q

128. 34Tõ utet L, M, N, P., Q, R, S yd T ya tTHR

III. Q, T

(A) Q

(C) P

IV. M, R A rit dRs fR aR R ot ŽI q M

(E) 344fR 9A

at 4Tã ft azafR R R

(A) 17,000
(C) 16,500
(E) 3rqtRa HN

(A) 9%

qtfat YS GHR rr otI

(B) tt
(D) Y44

(C) 11%
(E) 7fRa uN

fta dar

(C) 4,420
(E) gtRa HA

(B) L

TH (t. ) :
(A) 70 .ft
(C) 100 A

(E) 4rRa uA

(D)R

2,286 aAT 4 qf 2,448 3 GTI U

(B) 16,800

850 hH st, at ho TfA Teft?
(A) 4,200

(D) 17,150

(B)10%
(D)8%

(B]

132. yas AteAgh 1 yfRu 11 fahetter

(B) 4,400
(D) 4,320

(B) 84 .4
(D) 56

[C]

[D]

[AJ

[C]

[AJ

check
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133. 216 t. ht agTA sflf y tar sftf str

(A) 140 m (ft.)
(C) 144 m (ft.)
(E)HqtRa IN

134. Aràn TpfaÄfht fa?

(A) 11

(C) 15
(E)Hqtfka UM

135. cot 15°
75° T H :
(A)

(C)
(E) fta 9N

cot 20°• cot 45° • cot 70°• cot

(A) he
(C) tyr hHfR

136. fag e fta, 2023' â efa (faua) Tef?
(A) zeft (SZ SSAa)

(E) 47Rd uA

(B) 142 m (ft.)
(D) 135 m (f.)

(D) quferI (hetR sGlGS)
(E) 44dRa uN

(A) feeft
(C) at
(E) 4Ra uA

fhtT YGS (Silver medal) tta ?

(D) r qfAe

(B) 12
(D) 10

(A) aftersT, Ž

A

(B) 2

(D) 0

a. 3tf 34

b. t uyuf

(B) f GSI
(D) fd6

(B) hth1dI
(D) jas

(B) 54ye yte

(E) 3gafta gA

(B) tesS, qHfe
(C) -aest, yHfz (D) H delg, Ž

(E) 4Ra uA

[C]

I. 444
II, 3TE4yd

[AJ

[AJ

(B]

(B]

[AJ

[AJ

d. faai R

(A) a-II, b-I, c-IV, d-III (B) a-V, b-III, c-II, d-I

(C) a-I, b-III, c-IV, d-II (D) a-II, b-IV, c-I, d-I
(E) 3gdfkd UA

(A)GIGR 3TI
(C) TeI
(E)qkad uA

(A) Order
(C) Memorandum
(E) 3atRa HH

(A) qeter

(C) 3ATS-H

(E) 34gka DN

(A) TeyEG

(C) aferRY

(A) ufa

(C) HT
(E) 34uRa VA

(A) È4TE

(C) HAga

(A)3/-T
(C) fae
(E) 4guRa HA

(A) GITRIT/à-R
(C) Ar4
(E) 4TRa uA

V. 3115d

(C) fS fT
(E) 34gtfRa yA

(B) s4h I

(B)Reminder
(D) Circular

(B) dhr4
(D) 34

(B) «záfs
(D) ariTa

(B) 3TR

(D)hTR

(B) TH

(D) Tt

(B)fRratfea

(D)HySI

(B)

(D) d

(B) iS ttu
(D)iS ifaufetr

******

[A]

[C]

(D]

[AJ

[A]

[AJ

(B]

[AJ

[AJ
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